AFLEZEASEHE=AE

SM7E7ARRE

1 ZBEERREERR

G5
75
2 ARRE | e e —
2% [(ARASSHREERR] =7 F A
1t R 262 1 342 10 279 | 35 e BESEEH
| iR -1 +0 -15 -2 +4 30
& MW 131 1 161 4 1,330 | 55
| b=y -6 +1 =i -2 +30 [ 5o |
2 EROABEHH 5 ]
(1) EBZ (HE)
X5 Bl A| x| Xxk|x|&|x 10 1
SHM7E 13| 18| 20| 18| 25| 24| 13 51
[&] of of of of of of o1
SF6&E | 13| 23| 20| 22| 15| 25| 19 1A 2R 3R 4A B5A 6A 7A 8A 9B 10A 11A 12A8
[&] o of of of of of o (R BI R LR SR]
s | +0| -5| 0| -4|+10| -1 -6 2 3 7
@ BREEHER 2 * e
7 16 -5
X5 ait [ ivEm |enenwm wmAE m 15 14 14 — -
11
| 2ols| wam| tof| E@ | 8% |wawm| tof| B | am | | HE e R L3
SM7E 131 15 9 5 2 7| 45 9 34| 5 0 7 Ly
|§E% 1] of of o] of of of o of 1| of5 1 el e el e e H ——
St16% : I
=6 137 10 5 2 2 4| 55| 12| 40 7 0 0 ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ Lo
| & 0 0 0 0 0 0 0 0 0 0 0 0~2 2~4 4~6 6~8 8 10 12 14 16 18 20 22
% -6| +5| +4| +3| 0| +3]|-10] -3 -6] -2| =0 ~10 ~12 ~14 ~16 ~18 ~20 ~22 ~24
(3) BRANC Y HH)
BHlDER ADE
N & - =
= = &P 8 | . a5 | & | % £ BB | ®
X5 it Nt =3 7T g -'g i . % 2; gg 1? ? EXS 0%) ,_]\ =3 B [0 0%)
® | B | o | 2| U= |8 5|25 | |BE| | 5| 8% | &
#®ls || = wo| a7 [a" I & ® |\ | L
SmM7E 131 131 5 8| 12 0 1 7 6 2| 15 2 3| 60| 10 0 0 0 0 0
|§E%‘ 1 1] of of o| of of of o of of of of 1| of of of o] o o
SFH6E 137 137 2| 10| 12 2 0 7 7 3 8 5 4| 69 8 0 0 0 0 0
|FE%‘ of o] o of of o of of of o o of of of o of of of o o
IR -6 -6| +3| -2| 0| -2| +1| x0| -1 -1 +7| -3| -1| -9 +2| x0| x0| 0| x0| *o0
@) BEA-BARIASTREE NS RBE) [P ERETANSRERER]
wpg 08| 4285 |wEmFzse| REEAS [MBER [HFZBK
o~ 2 1 0 0 0 0
2~ 4 0 0 0 0 0
0 1 1 _
0 2 1 =XKMW
1 1 1
=
7 " 7 BEmEmEs |
! 0 0 X ELY
2 2 0
1
22~24 2 0 0 0 0
B 27 18 12 12 10
XEMSZHRBERIBIZ. BOBIEEHHROZVBFRFEERT
(5) BR#R7 - BaUE R A4 B (B FERIRA)
‘ ‘ ‘ ‘ = BEENER
4288 3 2 16 .z 1 AN EE
: : ‘ EBHR
BENFEIRG I 17 -1 B
‘ ! m HEVE
| | u AL
RAEA/HK 5 l1 4
EWEE VEEYEO
} } Z0th .
sz HAERX
INBBRE R 7 l1z
\ 1
_ HEX
HE=ZER '1 3 1 Fﬁiﬁ%ﬁalllﬁl
0 5

15

20

25

30




